Inter (Part-1) 2019

1Mathematic"s P : Group-ll ' ; PAPER: || |

‘|Time: 30 Minutes| (OBJECTIVE TYPE) | Marks: 20

-Note:: Four possuble answers A, B, C and D to each question
| - are given. The choice which you thlnk is correct, fill that
circle in front of that question with Marker or Pen ink in

" the answer-book. Cutting'or filling two or more circles
‘will result in zero mark in that questlon

" 11- " 3sina-4sinfo=7

@ sina -, (b) sin2a
(o) sin3a ¥ (d) sinda '
'2- Number of s:gnals can‘be made with 4 ﬂags when ;
i oneﬂaglsusedatatlmeare I e R A
(@ 4C, . .()*c, |
LA, Y (die, -
F Domaln of the functlony sm‘1 X is:
CL@-Fex<l i W gy
| ©1<x<1Y, @ '—‘%syg-—g :
- 4- " Ifl= 35cmand9 1rad thenr-:_ 4
(a) .85% L DL ODCN Y, ..
.(6) 35rad - d 0 (d)"35m . (e
"~ 5~ The equation sm2x SECX"%IS called:

(a) Tngonometnc equation v
(b) Linear equation
(c) Quadratic equation
oo dy Quantic equation
6~ Francesco Mourolico dewsed the method of
~ (a) Partial fraction  (b) Induction v
" (¢) Logarithms (d) Binomial
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In any AABC with usual notations,

s-C
(@) r _ (b) |
() , (d) r, v
Period of cot 0 is: | e
(@) n v (b) 2=
© % @ F

The general term in the expansion of (a + x)" is:

o Qurr o (o

@Oy @ ()an-rx |
If sides of a AABC are a = 4584, b = 5140 and
c = 3624, then greatest angle will be:

(a) o . BBV

(€) v | d) a -

If x — a is a factor of polynomial f(x), then f(a) is:
T(a)y=0v (b) <0

() >0 - (d) =0

- The multiplicative inverse of (1, —2) =

WD eEE

@ (&, 2)1/ . (d)(12)

If "C =nC,, thennis:

(a) 91/ o (b)FT '_ |
c) 6 (d) 5
e S 1 O 8 1 .
If[x_5_ _4] = [_5 _4] ,thenx=:

(@) 5V (b) -5

@ . ' (d) 1

15-

The arithmetic mean between \/2 and 31/2 is:
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(a) 32 (b) 2427

(c) A2 (d) N2
The sum of four 4™ roots of 16 is:
(a) 0V ' .(b) 2
(c) 4 . (d) 16
th 1 1 1
9" term in the sequence 315 7" -is:
1 . 1
(@) 73 -+ ()35
, 1 ' e ,
© 57 . (d) 79 V.
The contrapositive of ~p - ~ g is:
(@) p—>q (b) g p v
© ~qo~p (d) ~g—>p

From the Identlty 5x + 4= A(x - 1) + B(X + 2), then
value of B =

(a) -3 (b) 3v
- (c) -2 (d) 2 .
_ y - R 1 B o
lf4=[0. 0 5:|,thénA33==:
g Yum 3
(@) -1 (b) 1

©3 (@)oY
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